
Hypothesis

1. What might be the outcome if all of the 2,000 beans were to mate and produce two 
children? Explain.

Given all of there traits and which are dominant. I hypothesize that the result will 
give 50% Speckled. 5% White, and 45% Brown. I hypothesize that this is the case 
because the White beans make up only 9% of the population, and Speckled 
representing 42%, and Brown being 49%. I think that this is not quite a very accurate 
demonstration of how the next generation would be. Because in most animals and 
humans case they only mate with those who are most like them. 


